[12R18(B) A4 LT7—T)L ]
15PN
a—Fk 1 2 3 4 5 6 7 8 9 10 11 12
9:30 10:00 10:30 11:00 11:30 12:00 12:30 13:00 13:35 14:10 14:45 15:20
i BHxZC5 | H#ECc2 | #Ecs5 | EBc2 | EBECc5 | EECc4 | EBECc2 | ExC5 | EEC2 HECS HEC4
A2:3 c2:3 A2:3 1—1 1—1 2—1 #R2—1[#R2—-1|3R3—2 | RE3—1 | REs4—1
9 BHxZC5 | H#ECc2 | #Ecs5 | EBCc2 | #BECc5 | EECc4 | EBECc2 | ExC5 | EEC2 HECS HEC4
B2:3 D2:3 B2:3 1—2 1—2 2—2 |[#ER2-—2|#FER2—2(|[RE3—1| 3iR83—2 | BiR4—2
3 BHXZC5 | ExC4 | EEC5 | EBECc2 | #BECc5 | EEC4 | ExCc4 | EBEC3 | ExC4 HEC3 BHXZCS
c2:3 B1: 4 c2:3 1-3 1-3 2—3 [#ER1—1|[FERI—1|RB2—1| RE4—1 | RES—1
A BHEC4 | ExC4 | EBEC5 | EBCc2 | EEC5 | EEC4 | ExCc4 | EEC3 | ExC4 HEC3 BHXZCS
B2:3 B2:3 D2:3 1—4 1—4 2—4 [#HR1-—2|#R3—-2|3k2—2| 3kR4—2 | 3jR3—2
5 #HHEC4 | EEC3 | EEC4 | ExC5 | EECS3 BHECS5 | HEBC4
c2:3 1—1 1—1 1—1 2—1 #HR2—1|#ERI—1
6 #HHEC4 | EEC3 | EEC4 | ExC5 | EECS3 BHECS5 | HBC4
D2:3 1—2 1—2 1—2 2—2 #HER2—2 | HER3—2
7 #HEC4 | HECS BHEC3
E2:3 1—3 2—3
8 BHEC3 BHEC3
1—4 2—4
9 iIBcCce6 iIBcs iIBCS iIBcCc7 iIBcCce6 iIBcs iIBCo9 iJ%ZC8 IBCO IIBC6 IBCo iIBC7
A2:3 12:3 A2:3 1—4 1—1 2—1 2—1 HER2—1 | FER3— 1| REES—1 | RB4—1 | RE4—1
10 IEC6 (k67| TBECS | IBCc7 | LECc6 | tEC8 | LECO | TEC6 [Zk10-s| IxCS
B2:3 A3:5 B2:3 1—5 1—2 2—3 2—2 |#EHR2—1|%FRrR2—-1| RE3—1
11 TEC6 (k67| ZTBECS | LEC7 | tkc8 | TECc8 | LEC7 | LECS | TkC9 ZEC7 ZEC10 | ZECS
c2:3 Al:2 c2:3 1—6 1—4 2—5 2—1 #R2—1 | #ER2 -1 | #ER3 -1 | RE4—1 | REs5—1
12 TEC8 | LECIO0 | %k10-s | tkCc8 | TECc9 | tECc8 | TECc7 | IECc8 [IBCc10| IZECS
D2:3 c2:3 B2:3 1—1 1-3 2—7 2—2 3—1 HERI—1| REE3—1
13 TEC8 | LECIO0 | %k10-s | T%kCc8 | TEC9 [IEC10 iIECS8 IEC8 |¥k10-S
E2:3 D2:3 c2:3 1—2 1—4 2—1 3—-3 R4 -1 | RE3—1
14 iIBcCcs IBECI10 iJ%ZC8 iIBCs |AZEBEC10 I&ZC9
F2:3 E2:3 1—3 1—1 2—2 RS —1
15 IBCc7 | LBC9 | I%xC9 [iHBc10| ZHBECS | LBECc8 | LBC9 | ii%xCc8 | LHECO iZHEC6 ECO ZEC7
D2:3 D2:3 c2:3 1—1 1—2 2—2 2—3 |#}k2—2|#R3—2| 33R3—2 | 3k4—2 | 3R4—2
16 TBC7 | IBECO | TkC9 [IAIEC10| TkCc9o | TEC8 | TECO | LEC6 [Zk10-s| IkCS8
E2:3 E2:3 D2:3 1—2 1—1 2—4 2—4 |#}R2—2|#R2—-2| 33 -2
17 FBC7 | IBECcO | IBEC7 | LECO | TkCc9o | TEC8 | IEC7 | LECS | TkC9 ZEC7 ZEC10 | ZECS
F2:3 F2:3 1—1 1—1 1—2 2—6 2—3 |[#R2o2—2(#R2—2| #£R3—2 | 3iR4—2 | 3R5—2
18 TBC7 | IBECS | LBECc7 | LECc9 | tkCc9o | LECc8 | IEC7 | IEC8 [IBc10| ZECS
G2:3 | A1:4 1—2 1—2 1—3 2—8 2—4 3—2 |[##k3-—2| 3r3-2
19 iIBcCcs iIBcCcs IiIBC7 IECS IIKZXCYO |fIxk10-S|iTEC10| LECS8 iIEC8 |iAk10-s
G2:3 B1: 4 1-3 1—1 1—4 1—2 2—4 3—4 #Ra—2 | 3R3—2
20 iIBcCcs iIBcCcs IIEC8 |Tx10-S|iIIBEC10 IZCO
H2: 3 C1:4 1—2 1—1 2—3 3k3—2




